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\_NALT Round, 3—dbgib numbers to the nearest |00
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mulbiples hundred, Zeros
half-way
biggﬂ\ smaller
thousands hundreds




Today, we are looking ab mulfiples of 100.
Starting ot O, count inv 100s up to- 1000,
0 100 200 300 400 500 600 700 800 400 1000
What do you notice aboub these numbens?
And, whob number is % of 1007
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Slide to the floor, climb the, wine
Rounding Rhyme 9 ¥ Wher Wb 100:

8 o4
b 5 to 9 dimb the vine
Climb the Vine! | ic O to, l|_ Slldf/ t()» t}’],e/ ﬁl,OO'r"

(5 to 9 and O to 4 irvthe TENS
the Floor! columru)

so: o0 to Y9 r\oundjupj
O to 44 round dowaru




8 | 18|28 |38 48|58 |68 |78 |88 48
T V17|27 |37 | 47|57 |67 |77 87| 97
6|16 |26 36| 46|56 |66 76|86 96
S5 1152535455565 (7585 95
bo| 14 | 24 | 34 | &4 | 54 | 64 | T4 | 84 | Q4
311323334353 (637383 93
2|12 |22 |32 | 42|52 627282 12
I 2l 3| &1 56| 718 Ql
. 20130 (40| 50|60 | 70| 80| 90
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. 362 b. 213
2.0 /k . 847
3.150 6. 622
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What happens to the H column when you
round, up?



Using o blank number line or rounding hill, /
rollercoaster
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. 423
2. 450




Fluency

Fill, unﬂ'mrmsmngamxﬂhpj.e&qﬂ 100 mﬂx&mundngmrnh&nhrmmuius&ﬂw&
nmh@hnat&h&pgawmundﬂwﬂmmmhwt&th&nﬂﬂmﬁt 100.
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8 820 830 840 850 BRD BFD  8B0 830

. 810 —
2. 880 —»
3. 850 —»

>

200

537 555 568

b. 537 —
5. 555 —
6. 568 —

600

>

Round each number to the nearest [00.
7. 203 =
8. 867 —
q. 749 —
10.68] —
1. 350 —
12.950 —



AI.M.HB; sometimes or nesver?

Decide whichs word, is correch for eachs statement. Write an explanation, using a

. Hrmrnbﬂrmdﬂxﬂ}iyemﬂmmgnhjmnmundﬁuptatham
hundred

e A number with a Jive in the ones column rounds up fo the nearest
hundred



Pm-ble.nuSc-Lluli.ng.-l

When ar ruumber ie rounded, to- the nearest |00, the answer s 200.
When the: same number is rounded to the: nearest: |0, the: answer is 250.

Whal: could, the: number he?

Problem Soluing 2

Uw%d@bmgmq,mwmmmﬂtﬁﬂwmmw?
Tmmoﬂg—u&&m&udﬂ&iﬁm,hﬁwﬂdﬁh’thﬂu&t&uﬁawﬂawm
. When rounded to the nearest 100, I round to [000.

2. When rounded 1o the nearest 10, I round o 20.
3. Whan roundad o the nearest 10, I round to [0,

Emgmmpndmmﬂmwuﬂetﬂﬂﬂhmﬂu&p‘whlmu?
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https://www.topmarks.co.uk/maths-games/rocket-rounding

